SpR/ST3-6 Mock FCEM SAQ Paper – August 2008.

1. (Page 400,232 OHEM) A fifty eight year old man presents to the emergency department approximately sixteen hours after sustaining a wound to his right lower leg. He incurred the wound with a pitchfork whilst turning over his rose bed. The wound is shown below:
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a. Define the terms laceration and incision and explain why this distinction may be important. (2 marks)

· Laceration in an injury caused by blunt force resulting in jagged edges

· Incision is an injury caused by a sharp edge resulting in clean edges

· This distinction is important in the medico-legal context as it implies the cause of the wound.  In addition, clinically there can be different mechanisms of injuries to deep tissues thus in an incised wound there maybe tendon/ vessel injury laceration, whilst in a laceration there may be tissue crushing, bruising and oedema

b. Outline four methods by which you may decrease the incidence of infection in this wound in the emergency department. (4 marks)

· Irrigate capaciously 

· Debride non-viable tissue

· Suitable closure – in this case delayed closure due to time since injury

· Antibiotics like Augmentin

· Organise appropriate dressing and follow-up

c. What factors make a wound high risk for tetanus. (2 marks)

· Contact with soil/ faeces

· Presence of devitalised tissue

· >6hrs since injury

· Closure of the wound without proper washout
· 
· 
· 
d. Outline your management of the above injury.(2 marks)

· Clean thoroughly under local anaesthetic, debride and dress wound

· Review in approximately 32 hours for possible delayed closure

· Check tetanus status and administer vaccine if required or if unsure

· Give tetanus immunoglobulin

· Antibiotics like Augmentin

2. A twenty year old man is admitted to the emergency department following a fall. The paramedics bring him in with full cervical spine immobilisation and report he is previously fit and well. They estimate his initial GCS at scene to be 10/15 and on arrival it is 12/15. They report he fell approximately 3 metres from a wall. As he arrive in the resuscitation area he begins to have a seizure.

a. Give four reasons outlined in the National Institute of Clinical Excellence guidelines in which this patient fulfils the criteria for a brain CT. (2 marks)

· GCS <13 at any time since injury

· Seizure following head injury

· Dangerous mechanism of injury (fall from significant height)

· Persisting low GCS 
b. What is the immediate management of the seizure. (2 Marks)

· Maintain airway and administer oxygen

· Gain IV access and check blood sugar

· Administer benzodiazepine e.g. lorazepam

· Call for help – anaesthetic/ITU input

· Emergency RSI for airway protection in view of need for CT and, if required, termination of seizure 

c. His CT is shown below:
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Describe the abnormalities on the CT. (2 marks)

· Extra-dural haematoma in the right frontal-temporal region with loss of ventricles, evidence of mid-line shift and also pneumocephalous 

d. Outline the emergency department management of this patient’s head injury. (4 marks)

· A – for urgent intubation (RSI) with full cervical spine control

· B – Ventilate with oxygen, aim for a normal to low PaCO2
· C – IV access, give IV fluids to maintain a systolic blood pressure of at least 100mmHg

a. Whilst inserting cannula, take bloods including FBC, U+E, clotting screen and cross-match

· Urgent discussion with neurosurgeons – be guided whether to given diuretics such as mannitol

· Keep the head end raised by 20- 30 degrees

· Ensure that there there is no pressure over the neck veins from the cervical collar or tapes

· In addition, ensure that temperature normal and blood sugar is tightly controlled

· Assess the patient for other associated injuries 

· CXR – to confirm ETT position and for review of further injuries

· Pelvic x-ray – further injuries

3. A 78 year old woman is admitted to the emergency department following a fall at home. The triage nurse suspects a fractured neck of femur.

a. Give the BAEM standards for pain relief in the emergency department. (4 marks)

See my hand written notes

· Thorough and accurate documentation of pain score, time of administration of analgesia and review of their effect

· Severe pain – should receive analgesia within 20 minutes and reviewed every 30 minutes

· Moderate pain – should be offered analgesia at triage and reviewed every 60 minutes

b. Arrange the following opiates in order of their analgesic potency (2 marks)

a. Pethidine

b. Fentanyl

c. Morphine

d. Diamorphine

e. Codeine.

· Fentanyl, diamorphine, morphine, pethidine, codeine

c. Your F2 doctor has prescribed 10mg of morphine via the intra-muscular route for this lady’s pain. Explain why this is inappropriate. (4 marks)

· This is inappropriate as the analgesia is not being titrated to effect thus risking overdosing or underdosing the patient.  
· In addition there is unnecessary pain inflicted by the use of an IM injection, 
· in addition to the risks of infection and abscess formation.  
· There is also variable absorption and delay to onset of analgesia

4. A 35 year old man presents to the emergency department with a short history of a painful and swollen right testicle. Your F2 doctor suspects epididymitis but requests you review the patient prior to discharge.

a. Give the differential diagnosis in this case. (2 marks)

· Testicular torsion

· Orchitis

b. Outline your investigation and treatment plan for epididymitis in this patient. (4 marks)

See my hand written notes

· Investigation – urinalysis, consider chlamydia and other STD testing

· Treatment – Ciprofloxacin for 7 days, GUM/GP follow-up

c. Give four characteristics of testicular pain that would make torsion the most likely diagnosis. (4 marks)

· Sudden in onset
·  severe 
· atraumatic pain

· Associated vomiting

· Pain radiating to abdomen

5. A 47 year old man presents to the emergency department with a painful red eye and decreased visual acuity. On examination you find the following:
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a. What other non-ocular symptoms would you enquire about? (4 marks)

See my hand written notes

· Ulceration of mucus membranes including mouth and genitallia

· Cold sores

· Vesicle formation

· Penile/vaginal discharge

b. What is the organism most commonly implicated in this condition? (1 mark)

· Herpes simplex 

c. What is the emergency department management of this condition? (3 marks)

· Analgesia

· Assessment of visual acuity

· Consideration of other sources of Herpes Simplex and appropriate management e.g. acyclovir

· Urgent referral to ophthalmologist – do not start steroid eye drops in ED routinely 

d. Give 2 other causes of an acutely painful red eye with loss of vision? (2 marks)

· Acute angle glaucoma

· Acute uveitis

6. A 24 year old woman who estimates herself to be 8 weeks pregnant presents to the emergency department with a 24 hour history of bleeding per vagina and lower abdominal pain. On arrival she has a pulse of 82 bpm a blood pressure of 112/76 and a respiratory rate of 16 breaths per minute. She is warm and well perfused. Your FY2 doctor is concerned about the possibility of ectopic pregnancy.

`
a.
Give 6 factors in the history that make ectopic pregnancy more likely.(3 marks)

· Early gestation at 8 weeks (no scan done yet

· Other factors

· Previous Ectopic

· IUCD

· Assisted conception

· Previous surgery to fallopian tubes (delay transit time)

· Use of progesterone-only pill

· Endometriosis

· Pelvis-inflammatory disease

b. Give 4 factors on clinical examination that would make you suspect ectopic pregnancy.(2 marks)

· severe lower abdominal tenderness esp. U/L, 
· cervical excitation test +ve 

· tender adnexa, adenexal mass

· Evidence of peritonitis 

· signs of Hypovolaemic shock, 

· Severe unilateral tenderness,
c. Whilst examining the patient she suddenly becomes less responsive and appears pale. She now has a blood pressure of 60/30 and a pulse rate of 28 beats per minute. What is your management? (4 marks)

· Trendelanburgh position (fit up, head down)

· Administer oxygen (100%)

· Call for urgent anaesthetic/ITU and O+G assistance 

· IV access x 2 (14-16G) – bloods for FBC/U+E/clotting + cross-match (6 units) with urgent rhesus factor

· Start IV fluids

· Consider use of atropine (0.5mg bolus IV, repeated to maximum of 3mg,)

· If any delay in obtaining O+G assistance, perform a speculum exam for removal of cervical FB

d. Explain the mechanism for the above haemodynamic response.(1 mark)

· This is most likely cervical shock in which material becomes impacted in the cervical os, leading to vagal stimulation (as seen during elective dilation of the cervix) thus giving a bradycardia and hypotension.
7. Your FY2 doctor shows you an ECG and asks you to tell them what it shows and why:
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a. Explain why this is atrial fibrillation and comment on the rate and axis.(2 marks) 

· AF – as irregularly, irregular, with no conducting p-wave seen, with non-polymorphic QRS complexes

· Rate – approx 180bpm, Axis – Normal, Left axis deviation

b. Outline the factors that would prompt you to adopt a rhythm control strategy in this patient (4 marks)

· Young pt. (young benefit from rhythm control)

· New onset AF (<48 Hrs old) / Lone AF

·  H/O PAF
· Heamodynamically unstable (systolic BP <90)

· Presence of congestive cardiac failure

· Chest pain
· Decreased conscious level 

c. Explain the mechanism by which atrial fibrillation such as this can precipitate biventricular failure.(2 marks)

· AF leads to a rapid ventricular rate, thus reducing systolic time – hence reducing stroke volume and thus leading to an accumulation of fluid in the atrial chamber which feeds back into the pulmonary vascular network.  In addition, there is commonly associated left atrial dilation, which means that the atrium is unable to contract fully, thus leading to an accumulation of fluid.  This leads to an raised afterload for the right side of heart, thus impairing output leading to right side failure.
· 1. Fast ventricular rate→ increased work for ventricles; also that shortens the duration of ventricular diastole → decreased coronary perfusion → bi-ventricular failure

· 2. Inadequate rt. atrial emptying → increased rt. atrial  pressure → increased pulmonary vasculature pressure → increased work of rt. Ventricle to pump blood to lungs → rt. ventricular failure
d. Outline the guidelines for minimising the risk of stroke in patients with atrial fibrillation. (2 marks)

· Classification according to risk

· Low risk – young people, with no cardiac abnormality – can be given aspirin 300mg

· Moderate risk - >65yrs if no cardiac abnormality or <75yrs with cardiac abnormalities – can be either anti-coagulated (e.g. warfarin) or given aspirin

· High risk – those >75yrs with cardiac abnormality, previous TIA/CVA – anticoagulate these

8. A 76 year old man with chronic obstructive pulmonary disease is brought to the resuscitation room by ambulance with obvious respiratory distress.

a. His initial arterial blood gases are given below.




pH
7.18




pCO2
10.2 kPa




pO2
18.9 kPa




HCO3-
36




B.E.
10





Describe the blood gas picture (1 mark)

· Respiratory acidosis with metabolic compensation

b. Explain the bicarbonate level(1 mark)

· Bicarbonate is retained by the kidneys in order to bond with the hydrogen ions, aiming to reduce the acidosis

c. You decide to use non invasive ventilation to treat this patient. Explain the difference between BIPAP and CPAP and which one you would use in this situation( 5 marks)

· BIBPAP as a type II respiratory failure picture

· CPAP is continuous positive airway pressure – With continuous positive airway pressure or (CPAP) the machine delivers is a constant steady stream of airway pressure during inhilation and expiration. This prevents collapse of the alveoli, (by exerting PEEP) and will thus improve oxygenation, but not removal of carbon dioxide

· BIPAP – is bilevel positive airway pressure  - With the development of BiPAP, air delivered through a mask can be set at one pressure for inhaling and another for exhaling. This makes BiPAP much easier for users to adapt to and also allows neuromuscular disease sufferers to use the device. Because of these dual settings, BiPAP allows people to get more air in and out of the lungs without the natural muscular effort needed to do so.

· this provides PEEP to keep the airway open at the end of expiration, whilst also providing an additional inspiratory pressure in addition at the appropriate movement.  This will aid both oxygenation and carbon dioxide excretion.

The patient’s CXR is shown below::
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Describe the abnormalities on the X-ray and possible diagnoses (3 marks)

· Hyperinflated with barrel chested appearance

· Bulky right hilar

· Possible deviated mediastinum 

· Diagnosis – chronic airways disease with possible right lower lobe infection

9. A 28 year old woman is brought to the emergency department 24 hours after a significant paracetamol overdose.

a. Describe the metabolism of paracetamol in overdose. (3 marks)

· Paracetamol normally metabolises its toxic breakdown products via glutathimine, which in overdose can become saturated, leading to accumulation of the toxic products which can cause hepatic necrosis once glutathimine stores are exhausted

b. What risk factors in the history place an individual at increased risk of paracetamol toxicity? (2 marks)

· Regular alcohol excess

· Malnutrition

· Enzyme-inducing drugs (e.g. St. John’s wort)

· Pre-existing liver disease

c. The patients blood investigations are given below:

Hb
13.2

Paracetamol
<10
AST
4800
Glucose 1.9

WBC
9.8

Salicylate
<10
ALT
2756
pH
7.27

Plts
357

Urea

22
Bilirubin
26
pCO2
3.8

MCV
84

Creatinine
227
Albumin 38
pO2
42.0

INR
2.2

Sodium

142
γGT
1750
HCO3-
18

APTT


Potassium
4.8


BE
-8




Give 4 results that indicate a poor prognosis. (2 marks)

· pH
7.27 metabolic acidosis
· High PT (Raised INR)
· Creatinine
227
,                                     Low blood glucose
d. Give the dose regimen for N-acetyl cysteine and describe its actions in paracetamol overdose. (3 marks).

· Dose

1st bag – 150mg/kg NAC in 200mls of 5% dextrose over 15min, 2nd bag – 50mg/kg in 500mls of 5% dextrose over 4 hrs.  3rd bag – 100mg/kg in 1000ml over 16hrs

· Action – binds to the toxic metabolite of partacetamol, preventing hepatic necrosis

Acetylcysteine or NAC acts as a precursor for glutathione to replenish its stores. (Wiki)
10. A 27 year old women is brought into the emergency department. She is agitated on arrival and slightly confused. Her partner tells you she is on carbimazole however she has recently had gastroenteritis and has not been taking her medication. She has a temperature of 38.2°C, a pulse of 142 bpm and a blood pressure of 160/105. You make a diagnosis of thyroid storm.

a. Describe four non drug treatments. (not to include oxygen or IV fluids). (4 marks)

· NG tube

· Cooling

· Urgent expert help from an endocrinologist

· Admission to monitored bed/HDU/ICU

· 
· Airway maintenance

· 
· Reassurance

· 
b. Give four causes of thyrotoxic crisis. (2 marks)

· Thyroxine overdose

· Infection

· Trauma

· Inappropriate cessation of anti-thyroid therapy

c. Describe the drugs used in thyrotoxic crisis and the rationale for their use. (4 marks)

· Propranolol – blocks the Beta receptors,  treats tachycardia (palpitations), tremors and anxiety 
· Carbimazole – Inhibits the synthesis of new thyroid hormone (Davidson P 692
· Iodine – reduces function of thyroid gland by saturating iodine receptors and pathways
· Diazepam to sedate patient and make more manageable

· Antiobiotics – treat infection if present

· Steroids  - reduce auto-immune component and suppress the response

Temporary medical therapy of thyrotoxicosis (WIKI)
Thyrostatics
Thyrostatics are drugs that inhibit the production of thyroid hormones, such as carbimazole (used in UK) and methimazole (used in US), and propylthiouracil. Thyrostatics are believed to work by inhibiting the iodination of thyroglobulin by thyroperoxidase, and thus, the formation of tetra-iodothyronine (T4). Propylthiouracil also works outside the thyroid gland, preventing conversion of (mostly inactive) T4 to the active form T3. Because thyroid tissue usually contains a substantial reserve of thyroid hormone, thyrostatics can take weeks to become effective, and the dose often needs to be carefully titrated over a period of months 
Beta-blockers

Many of the common symptoms of hyperthyroidism such as palpitations, trembling, and anxiety are mediated by increases in beta adrenergic receptors on cell surfaces. Beta blockers are a class of drug which offset this effect, reducing rapid pulse associated with the sensation of palpitations, and decreasing tremor and anxiety.

.

11. A 18 year old woman attends the emergency department complaining of lethargy and breathlessness on exertion. The rest of the history is unremarkable apart from a recent sore throat. Her full blood count is as shown: Page 310 OHCM-N

Hb

6.2g/dl

`
Wbc

9.6


Plts

227


MCV

98


Reticulocytes
4 (Normal is 25-100 x 109/L)
a. What is the likely diagnosis?
(2 marks)

· Anaemia with normal (slightly increased MCV) MCV/platelets and white cells and no raise in reticulocytes – hence probably a primary failure of red cell production at the bone marrow

· Most likely due to viral

    What signs may you look for? (3 marks)

    Answer: - Pale palms, pale look of the patient, pale palpebral conjunctiva

· Tachycardia

· Hepato-splenomegaly

· Lymphadenopathy

· Functional murmer

Symptoms: fatgue, fainting, dyspnoea, palpitations, angina
b. Your FY2 asks you to teach her about the problem. Describe a suitable classification.(5 marks)
Answer: - Normocytic anaemia- Low Hb, but normal size of RBCs, occurs in chronic diseases, hypothyroidism, renal failure
· Microcytic anaemia- Low Hb, but decreased size of RBCs, occurs in iron deficiency conditions like decreased intake or decreased absorption of iron; long standing blood loss like menorrhagia, bleeding from peptic ulcer

· Macrocytic anaemia- Low Hb, but increased size of RBCs, occurs in Vitamin B12 and Folic acid deficiency, alcohol excess
c. What signs may you look for?(3 marks)

· Bleeding, bruising

· Signs of viral infection

d. Your FY2 asks you to teach her about the problem. Describe a suitable classification.(5 marks)

· Primary

· Congenital – most common in children

· Idiopathic

· Secondary

· Auto-immune disease e.g. SLE, rheumatoid arthritis

· Malnutrition

· Viral (e.g. parvovirus)

12. A 3 year old child is brought in with a fever and a rash. Examination reveals the following:
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a. What sign is illustrated? (1 mark)

· Koplik spots

b. Whilst examining the child they begin to fit. Outline your management as per APLS protocol.(6 marks)

· Oxygen, secure airway (NP airway if required)

· If IV access

IV lorazepam 0.1mg/kg, repeat after 10minutes

· If no IV access

Give diazepam 0.5mg/kg PR or midazolam buccal

· If no resolution, for PR paraldehyde followed by a phenytoin infusion.  If seizure persists – RSI with thiopentone

· Remember to check blood sugar and treat appropriately

c. What is the incubation period for measles and how is it transmitted?(2 marks)

· 14 to 21 days

· Transmission – via airborne droplets

d. Give 2 complications.(1 mark)

· Pneumonia

· Encephalitis

13. Your FY2 doctor asks you to explain the departmental DVT pathway to him.

a. Give 6 features of the Wells score for DVT (6 marks)

·  Active cancer

· Recent major surgery

· Prolonged immobility

· Calf swelling >3cm compared to opposite side

· Entire leg swelling

· Tenderness along deep venous sytem

b. Give 2 risk factors that are not included in the Wells score. (2 marks)

· Pregnancy

· Previous DVT

c. What is D-dimer and in which groups of patients with possible DVT is it useful? (2 marks)

· D-dimer is clot derogation product, which  is elevated in DVT along with other causes

· Useful in those whom are Well’s score deems them low risk

14. A 34 year old multiparous woman is rushed into your resuscitation room in advanced second stage labour. You successfully deliver a baby girl.

a. What drug/s should you give at this stage and why? (3 marks)

· Syntometrine and oxytocin – causes uterine contraction reducing PPH incidence

b. Describe how you would assess the newborn baby?
(3 marks)

· APGAR score at 1 and 5 minutes

Looks at tone, colour, reflex (grimace), heart rate and respiratory effort (crying)

c. What is:

· the volume of the fluid bolus in newborn resuscitation? (1 mark)

1. 20mls/kg

· The dose of adrenaline used in newborn resuscitation?(2 marks)

1. 0.1mg/kg of 1:10000

· The correct ration of compressions to ventilations in newborn resuscitation? (1 mark)

1. 3:1

15. A 52 year old man is brought to the emergency department with a high fever and difficulty in breathing.

a. What is Ludwig’s angina? (1 mark) Sep. 7, 2007 diary
· Cellulitis of the floor of the mouth, leading to difficulty in swallowing and can also cause airway obstruction 

b. What are the likely symptoms? (2 mark)

· Neck pain and swelling, 
· pain and raising of the tongue 
· airway obstruction, 
· dysphagia 
· sepsis
c. Give 8 pieces of equipment that should be available on your difficult airway trolley? (4 marks)

· McCoy or straight laryngoscope blade

· Assorted uncut tubes of all sizes
· LMA

· Intubating LMA

· Pro-seal LMA

· Cricothyroid cannula (e.g. Ravussin) with Manu-jet

· Surgical Cricothryoidectomy kit

· Exchange catheter (bougie which can be oxygenated through)

· Flexible fibreoptic laryngoscope (with portable/battery light source) 

Recommended equipment for management of unanticipated difficult intubation
· At least one alternative blade (e.g. straight, McCoy) 

· Intubating Laryngeal Mask Airway (ILMATM) set
(size 3, 4, 5 with dedicated tubes and pusher)

· Tracheal tubes – reinforced and microlaryngeal size 5 & 6mm 

· Proseal laryngeal Mask Airway (ProSeal LMATM) 

· High pressure jet ventilation system (e.g. Manujet) OR

· Large bore cricothyroid cannula (e.g. Quicktrach) 

· Surgical cricothyroidotomy kit 

(Scalpel with no.20 blade, tracheal hook, 6/7 mm tracheal and tracheostomy tubes)

d. What are the predictors of a difficult airway? (3 marks)

· Previous H/O difficult airway

· High mallapati score

· Teeth : Prominent upper incisors
· short, thick neck 
· Difficulty opening mouth: Temporo-mandibular joint movement : It can be restricted ankylosis/fibrosis 

· Facial injury and deformity

· Short thyro-mental (TM) distance
· Physiologic conditions : Pregnancy and obesity
·   Any masses in neck, extension of neck, neck mobility and ability to assume ‘sniffing’ position should be observed.

Infections of airway (e.g. epiglottitis, abscess, croup
16. A 9 year old presents to the emergency department with a painful limp. His X-ray is shown below:
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a. What is the diagnosis? (1 mark)

· Left slipped upper femoral epiphysis (SUFE)

b. What is the differential diagnosis for the limping child in the emergency department? (3 marks)

· SUFE

· Septic arthritis

· Irritable hip

· Fracture

· FB in foot

· Perthe’s disase

c. Give 6 features of the childs immature skeleton that affect the conditions presenting to or the treatment within the emergency department. (6 marks)

· Sutures – can suffer serious intra-cranial haematoma leading to hypovolaemic shock prior to closure
· Elastic spine: SCIWORABones pliable – hence deform without complete fracture (e.g. greenstick) or can have underlying injury with no obvious bony abnormality (e.g. traumatic chest injury), ?buckle #
· Pelvic bones: do not offer much protection to abdominal viscera

· Epiphyseal plates less strong part of the bone: #, injuries can have significant long-term consequences, also can slip as in SUFE

· Apophysis- Traction apophysitis e.g. ossgoods schlatters
· Metaphysis- acute osteomyelitis

· Perthes D.

· Pulled elbow

· Bones still developing – ‘growing pains’ 

· Due to immaturity and growing – faster fracture healing and re-modelling occurs

· Difficulty in interpretation of x-rays 

17. An eight year old known asthmatic presents with an exacerbation:

a. As per the British Thoracic Society guidelines give four features that define a severe asthma attack. (4 marks)

· Unable to complete sentences

· PEFR <50% and > 33%

· Respiratory rate >30

· Heart rate >120bpm

b. What drugs including doses would you use in a severe asthma attack? (2 marks)

· Salbutamol nebuliser 5mg

· Ipratropium bromide – 0.5mg nebulised

· Steroids – prednisalone 40mg in an adult (25-30mg in an 8 year old), hydrocortisone

c. What criteria need to be fulfilled prior to discharge?What advice would you give and  what follow up would you arrange? (4 marks)

· PEFR >75% - stable at 1 hours following admission

· Asymptomatic

· Advice – regular inhalers, return if unwell

· To follow-up within 48hrs with GP

· Check inhaler technique

· Written notification to GP

18. You are put on stand-by for a 37 year old homeless man who has been found unconscious behind local shops. It is a cold winters day and the paramedics suspect him to be profoundly hypothermic.

a. Outline the steps you would take to prepare to receive the patient. (5 marks)

b. Call for help – anaesthetic/ICU team + medical team

c. Prepare warm fluids/fluid warmer/warm blankets

d. Consider having equipment available for active rewarming (e.g. urinary catheter/NG tube/peritoneal lavage/chest drain (pleural cavity) for warm cavity irrigation

e. Ensure warm room

f. Have low-reading thermometer available (e.g. rectal)

g. You get a further call to advise you he has arrested en-route. What modifications will you make to your standard resuscitation protocols? (5 marks)

h. Aim to prolong CPR until warm (if not resistant to same)

i. VF/VT – give 3 shocks as per ALS and then no further until body temperature > 30 degrees Celsius 

j. Drugs – don’t give any until core body temperature >30 degrees Celsius and then double the time interval between each dose

19. You are looking after a 26 year old motorcyclist with an isolated closed mid-shaft fracture of his right femur. There is no distal neuro-vascular deficit. You decide to perform a femoral nerve block.

a. Draw the anatomy and label the structures pertinent to performing a femoral nerve block. Mark on any distances and the injection site (5 marks)
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b. What drug would you use for the block and what dose? (2 marks)

· Lidnocaine 1% (max dose 3mg/kg) - 200mg in an normal adult

OR

· Bupivaccine 0.5% (max dose 2mg/kg) – 20mls (hence 100mg) in a normal adult

c. What are the advantages of a femoral nerve block? (3 marks)

· Rapid analgesia if lidocaine used

· Simple technique with low rate of complications and does not require a nerve stimulator

· No respiratory depression

· Isolated analgesia – hence allows easier assessment for other injuries

· Unlikely to mask compartment syndrome

· Allows placement of a Thomas’s splint

20. As part of a regional major incident training exercise you are put on stand-by for a chemical incident involving the release of organophosphates into the atmosphere.

a. What is the mechanism of action of organophsophates in poisoning? (2marks)

· Inhibit cholinesterase – thus leading to an accumulation of acetylcholine at the nerve junctions

· Absorption is via skin contact

b. Describe 3 toxindromes of organophosphate poisoning (3 marks)

· CNS, skeletal muscles, smooth muscles, exocrine glands  
e. What 3 drugs are used in organophosphate poisoning? (3 marks)

· Atropine

· Diazepam

· Pralidoxime

f. In the case of mass casualties how can you access these drugs? (2 marks)

· Access via low blood transfusion service – notify of same and will aim to distribute to both site and receiving hospital
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